789

n e
BT =#/I)LT—% / Technical Datall #PLPE / Components
No. & %R / Part name #E / Pcs #ME / Material - REUIE / Color-Finish
#ift kLY / Recommended torque 1 a—F—Javy A FILESE A% ¥Rk ADC12 U=, TTvs - B (RERRALIE)
7':@ RN-;R‘)L[\Mgﬂo / Hexagonal M3-10 : 0.2N-m Corner block Diecast aluminium ADC12 Silver , Black+Painted (Unfinished inside)
Btk TILEHRHH A6063S-T5 DW= TSV TILIAND T HE
IMM3x8 / Flat head M3—-8 : 0.3N*m ~ 0.6N-m 2 Frame 2 Extruded aluminium A6063S-T5 Silver, Black=Anodized with clear coating
s IL—L 4 TV A6063S-T5 DIN— TS -TILRANY T B
Panel support frame Extruded aluminium A6063S-T5 Silver, Black*Anodized with clear coating
4 2RIV ) 7ILSHR A1100P DIWIN— , TS597-FILIA
Panel Aluminium A1100P Silver, Black*Anodized
5 Hn— : 7IJLEHR A1100P DIWIN— TS5 7-FILIAb
Top cover Aluminium A1100P Silver, Black=Anodized
6 THN— 1 7IL2HR A1100P DIIN— TS99 FILIAk
Bottom cover Aluminium A1100P Silver, Black* Anodized
. aA—F—H—FK o TPE (TS XLV) T390, TL—, FAE—, Luk
Corner guard TPE (Elastomer) Black , Gray , Navy , Red
g E{tE R (M3 x 8) 1 % =T ILAYF
Screw (Flat head M3 - 8) Steel Nickel plated
9 IFER (RERFARILEMS x 10) g % =R/ OA—+
Screw (Hexagonal M3 - 10) Steel Black trivalent chromate
10 BAER GRAFRERMS x 5) 4 % ZwiLAvE | =lE/OA—k
Screw (Original trapezoid hex head M3 - 5) Steel Nickel plated , Black trivalent chromate

BRREIEREDOD) / Color Type (End of product number[1) 8
E2%5 / Code FILEH—X / Aluminium enclosure a—4—H—K / Corner guard
S B < JLiN— / Silver 7597% / Black 5% Tie
[=]=]
° 8 ZIIN [ Siver T/ Gray TAKACHI] #X&tanFEMTE R O
A= Be —_——H— R =
S N < JLsN— / Silver RAE—/ Navy A== A—FETLST—R J |
S R :/}bl(— / Silver I/‘VP / Red TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM ENCLOSURE with CORNER GUARD R,—;/Scale
B B J55w4 / Black 554 / Black 7 F8/Approved #R[X/Checked #[/Created #4F /Product number =
B G J5w% / Black J'L— / Gray EP*E F EJZ'K AUGT 77_25_43_D D \
B N 7594 / Black HAE— / Navy N—2/Page
B R 959 / Black Lo / Red fER A /Date 2024/09/26 171
AREDEFIEIHXSHINTFEMITEIZIREELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




D view

383

fl

189

R24

E view

B |
. N
= | )
=<— A
F view

R52

166

C view

A-A(1:5) C-C(1:5)
J
o o
= =
)
Y
416 242
B view
438
==
) O )
= ] C ]
Lo
N
fua/Title
TAKACHI| H#HASHANTFERIE A—F—H—FEF7ILIT—R @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM ENCLOSURE with CORNER GUARD
758/ Approved 1% [E/Checked %[ /Created | E!F/Product number RE/Scale
1:5
iR T A AUG177-25-43-0001 sy
{ER B /Date 2024/06/03 2 /1

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C ¥ / C Frame

380 22.5

(L

o ~

— ©

3

=

<

* = o)

5 5

M / Front side

2-M3FAHIR
2-M3 Countersunk

¥ ximEEFE4Hk / Same on the other side.

D {8I#% / D Frame

[
B2

M / Front side

3.3

3.3

ZE@ / Back side

%M / Back side

a4/ Title
TAKACHI| BXESH4DhFERIE B4R () G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
7&K R/ Approved 1&[X/Checked #[X/Created FIE /Product number RE/Scale
1:3
iR : B R e
H177 — D430 1ERK B /Date 2024/05/15 3 /17

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




22.5

200

2-M3FH37%
2-M3 Countersunk

o—

14

6.8

45

29

1.6

ET47K / Total 4 pieces

a4/ Title
TAKACHI| HASHINFEKIE IL—L @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel support frame
23/ Approved t&X/Checked #I[X]/Created FIFE /Product number RE/Scale
1:1
iR : B e
W250 1ERK B /Date 2024/05/15 4 /17

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A /NLRJL / A Panel

200

166

%M@ / Front side

B /A2 )L / B Panel

B~k / Max dim. 192 £ 0.5

3@ / Front side

A3~k / Max dim. 158 £ 0.5

fREES—HA

Surface protective film side

{25 — Mol

Surface protective film side

15

Z @ / Back side

2 / Back side

a4/ Title
TAKACHI| X2 hFERIE ISR () G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
23/ Approved t&X/Checked #I[X]/Created FIFE /Product number RE/Scale
1:2
iR X FipN R—/Page
H177 — W250 1ERk B /Date 2024/05/15 5 /17

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




239.4

4-R14.7 220
/o &
> 3 o o
; <
NG S

M / Front side

Bxh~ti% / Max dim. 203+0.5

6—24.5

A#h~ti% / Max dim. 383+0.5

fREES—HA

Surface protective film side

ZEm / Back side

/s AN
7 ()
o o
7 7
o
N %

a4/ Title
A - .
TAKACHI| HASHINFEKIE FN— () G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
23/ Approved t&X/Checked #I[X]/Created FIFE /Product number RE/Scale
1:3
iR : B R e
W250 - D430 1ERk B /Date 2024/05/15 6 7/ 7

AREOEFREFIHRXSHINTFERITEICRBLET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO

., LTD. All Rights Reserved.




239.4

4-R14.7 220
/o &
> 3 o o
; <
NG S

M / Front side

Bxh~ti% / Max dim. 203+0.5

6—24.5

A#h~ti% / Max dim. 383+0.5

fREES—HA

Surface protective film side

ZEm / Back side

/s AN
7 ()
o o
7 7
o
N %

a4/ Title
. A — .
TAKACHI| HASHINFEKIE THhiN— @) G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
= A > s ] RE/Scale
£2/Approved t&X/Checked #I[X]/Created FIE /Product number
1:3
iR : B R e
W250 - D430 1ERk B /Date 2024/05/15 777

AREOEFREFIHRXSHINTFERITEICRBLET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO

., LTD. All Rights Reserved.




	
	Sheets and Views
	Model



